Worksheet 4.5 When did that happen?






              Group 5
Identify the pattern below and draw or write the correct image or number that would come next in the sequence.
_____
3   2   7   6   11   10   15   14   19   18   23  22  ___
↓  →  ↑  ←  ↓  →  ↑  ←  ↓  →  ↑  ←  ↓   ___
All the patterns above have a logical order that makes it easy to guess what will come next in the sequence.  Language is a lot like this.  There are many patterns and systems that speakers follow, whether they know it or not.  

For example, there is a pattern in English that speakers use to signify to their listener that they are referring to events that happened in the past.  Complete the chart below.

	I walked around.

	I tripped over it.

	You _______ around.
	You tripped over it.

	He walked around.
	He ___________ over it.

	We walked around.
	We ___________ over it.

	You all walked around.
	You all tripped over it.

	They ________ around.
	They tripped over it.


What do speakers add to the end of verbs to mark past tense? __________________________________

In the previous example, every verb is conjugated the same; however, there are many verbs in English that are not conjugated like this in the past, i.e., to wake up, to sleep, to eat, and to drive.
Conjugate these verbs in the past tense in Standard English:

	Present Tense
	I    wake up
	I  sleep
	I  eat
	I   drive

	Past Tense
	I   _woke up__
	I   _________
	I   _______
	I   ________


These verbs are conjugated IRREGULARLY in the past tense.  How would they be conjugated if they were to obey the past tense pattern of the majority of verbs?

	
	To wake up
	To sleep
	To eat
	To drive

	Past Tense Pattern
	I __waked up____
	I ________
	I      _____
	I _________


What would you think of someone who said to you “Yesterday I woked up and saw that I sleeped for 8 hours so I eated breakfast and then drived to work”?  Why?
__________________________________________________________________________________________________________________________________________________________________________

_____________________________________________________________________________________

Some of these irregularities in the language patterns of English are because older historical forms of the language are still present in the current language.  They are still, however, treated as grammar rules and expected to be followed in Standard English.
For another example, fill out the chart below using the present tense.  On the left side of the chart under “Standard English” fill out how you have been taught to conjugate the verb.  On the left side, write in what would follow the pattern for the present tense.
	
	Standard English
	If Followed Regular Pattern – Nonstandard Variety

	First person singular
	I dance a lot.

	I laugh so much.

	Second person singular
	You dance a lot. 
	You laugh so much.

	Third person singular
	He _____________  a lot.
	He ___________ so much.

	First person plural
	We dance a lot.
	We laugh so much.

	Second person plural
	You all dance a lot.
	You all laugh so much.

	Third person plural
	They dance a lot.
	They laugh so much.


What is the irregularity in Standard English for present tense verbs when talking about he, she, or it (third person singular)?  What is added to the end of that word?  ________________________________

What would you change about the present tense verb pattern to have it make more sense?

_____________________________________________________________________________________

 Some features of nonstandard varieties are different from Standard English because they regularize language patterns.  Without prescriptive grammar rules like Standard English, they are able to do this more freely.  This example is a feature from African American English.  This variety does not include the –s on the end of third person singular present tense verbs because it does not fit the pattern.

Example of third person singular –s absence in African American speaker:  
“This boy walk right up to me and he say ‘Excuse me, ma’am.”  He don’t know I’m only 18.  He go right on out the door and I just laugh.”
However, for the most part, speakers of African American English and other speakers of Standard and nonstandard varieties are not aware of the patterns they use in their speech.  They do not intentionally change their language.  Instead, this is a result of language change due to internal language pressures.  This means that people are unknowingly using and following language patterns that are logical instead of abiding by prescriptive grammar rules that have been put in place.  Many of us do not think about how we use language because we’ve been doing it for so long and do it so fluently that we don’t need to think about it to do it.
Over time it has become very obvious that humans who intentionally try to control language always fail.
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France has a French Academy of Language called the “Académie française.”  This academy has forty members who act as the official authority on the French language.  They are supposed to publish an official dictionary of the language as well as guide the public and the government in their usage of French.  It was first established in 1635 and after the French Revolution restored again in 1803 by Napoleon Bonaparte. 
The French Academy has tried very hard to control the French language but they have had little success.  Below are some stances that the French Academy has taken.  In the table put an “X” deciding whether you agree or disagree with their decisions.

	
	Agree
	Disagree

	No English
	
	

	Specify man or woman
	
	

	No regional languages
	
	



DISCUSSION

Did you agree or disagree with stance 1?  Why or why not?
__________________________________________________________________________________________________________________________________________________________________________
Did you agree with stance 2?  Why or why not?

_______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Did you agree with stance 3?  Why or why not?

_______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Why do you think the French Academy is so unsuccessful at controlling the French language and those who use it?

_______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Do you think any government, group of people, or scholars could control language?  Do you think having an English Academy in the United States would work?  Why or why not?

__________________________________________________________________________________________________________________________________________________________________________

Why do you think that some people who speak nonstandard dialects say “I were having a good time” and “She were dancing all night”?  Why don’t they use was like is accepted in Standard English?  (Think about the language pattern)

_______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

What was the cause of this language change?  Why did it happen?

_______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
French is a Romance language.  One of the features of a romance language is that each noun is either feminine or masculine.  English is not a romance language, but we have words for different professions like fireman, policeman, and waiter.  There has been a feminist movement to start using words like firewoman, policewoman, and waitress if the individual is a female.  Likewise, in France, the noun for minister is le ministre which is masculine.  The feminist movement in France is trying to use la ministre, which is feminine, when referring to a female minister.  The French Academy has insisted against this and wants the public to keep to the traditional way of using le ministre to mean either a male or female.








Just like the United States has many different languages spoken within its borders, so does France.  Some of these languages include Alsatian, Basque, Occitan, and Catalan.  In 2008 the French Parliament was deciding whether or not these regional languages should be protected constitutionally and the French Academy argued that they should not.





They have tried to stop the widespread use of English in media and technology by preventing French people from using words like software and email.  They instead encourage them to use words like logiciel and courriel because they are derived from French.











